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NBM-16080001020805 Seat No.
B. Com. (CBCS) (Sem. II) Examination
April / May - 2017
Advance Statistics - II
(New Course)

1
Time : 2; Hours] [Total Marks : 70

1 (3) P(4)=12,P(B)=1/3,P(AnB)=1/4 &1 dl D4 : RO

(1) P(4UB)
(k) P(4nB)
(8) P(4uB)
(¥) P(A'~B)
(W P(4YB)

(o) & (08 el A 2 B W2 P(4UB)=2/5, P(B)=1/3
gl dl P(4) Aadl,

(5) A, B #A C, uaaur [Hars ve-il iz 3P(4) =2P(B)=6P(C)

i dl P(AUB), P(BUC), P(AuC) Aadl.

(2) A5 WAHL 3 dlel A 3edls dld sl 8. % quidl 2 Al £3l
Aal-l Auadl 2/7 €l dl, did il dval WAl

wYd)
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() el

Y]

(2) Aeuasl

(2) wRR Mars we-l

(3) Mala we-.
(1) it s 3

P(AuB)=P(A)+P(B)-P(ANB)

(5) & MUa 82l A 20 B 12 allbid s 3 ¢

P(A'nB")=P(A4")xP(B")

RO

(3) A4={1,2,3,4},B={2,4,6,8}, C={3,4,56} €l dl . A 3}

Am(BmC):(AmB)mC

2 () DA ulsdl W2 yruud si-det 53 1998+ AR 0
Bxa Aad) :

qy

|92 !

93

'94

'95

'96

Gig

40

50

62

58

60

(o) A0 sl 2 ax® +bx+c el s

qy

1

213

4

5

6

7

y.2is |10

12 |18

15

13

16

14

2 (a) wmls e« vedl qui.
(o) Nl quue Aad) :

wYd)

af |0 |0

&

56 | 48

62

46

60 | 54

66

52

68

54

1
2
3 170 |56
4 |68 |60

64

56
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3 (2) s WML 3 de 2 7 S0 83 . adidl welos d o

3 &3l QML 2Ud . A UAS AFE €3l M2 10 3. VL S0 83l
HE 5 3. Al 2 dl vl -l 2l Bra qadl.

(o) 2epa-i RideL vl G) k Gi) £ (xz) (iii) [8l ¢

(iv) (1-5x)d Q@ (v) E(x+3)2 4.

x 0 |1] 2 [3] 4
p(x) [1/16 | k | 6/16 | k |1/16

2Yq|
3 (a) A5 WAL 6 Al 7 4 dlal 23 8. Axidl 2 s w5 Ad u
AqlMi A dl ald el vula Fxd ).

(o) 4 [ss17 A4 0 GOl U dl ol vl AR y

(Eva Hadl.
(5) ulifis el clg®Risai>l quil. y
¥ (2) Rugl Rdreidl cia@isdiz >0 Gualol auvil. Y

(o) [Bu€l RidReisl wus i AR viqsi 6 2 2.4 &AL dl y

@ p, q () n (i) p(X=1) HAadl.
(5) Ruél Rdzemi, n=6, 9-p(X=4)=p(X=2) & dl. 1
@ p, q () p(X=1) Aadl,

wYd)
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¥ () e el dalRisdiel 213 Guylel qv. Y
(o) Wauad RdeEl p(X=2)=3p(X=4) da d, 1
@) s, [Qare
i p(xX=0)
(i) p(X=1) Aadl.

(5) DA lfedl vl WA Rdeld si-o s y

f 11235914 |3

(e_O'S - 0.6065)

ENGLISH VERSION

1 (@ P(4)=1/2,P(B)=1/3,P(A~B)=1/4, find : 20
(1) P(4UB)
@) P(4nB)
@) P(4'UB)
@) P(A'nB)
G) P(AYB)
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(b)

©

(d)

(b)

©

(d)

(b)

For two independent events A and B,
P(AUB)=2/5, P(B)=1/3, then find P(4).
If A, B, and C are three Mutually Exclusive events,

and 3P(A4)=2P(B)=6P(C), then find

P(AUB),P(BuUC),P(AuC)

There are 3 Green and some Red balls. If probability
of 2 Red balls is 2/7, then find no. of Red balls ?

OR

Define the following terms : 20
(1) Probability

(2) Mutually Exclusive events

3) Independent events.

Prove that :

P(AuB)=P(A)+P(B)-P(ANB)

For 2 independent events A and B, prove that
P(A'nB")=P(A4")xP(B")

A={1,2,3,4},B={2,4,6,8}, C={3,4,5,6} then prove that
AN(BNC)=(4AnB)nC

Fit straight line to the following data and est. prod. 10
for the year 1998 :

Year '92 1'93 ['94 ['95 | '96
Production | 40 | 50 | 62 | 58 | 60

Fit ax’+bx+c to the following data : 10

Year 1 {23 |4|5]6]|7
Index No. [10 [12 [18 |15 |13 |16 |14

OR
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2 (@) Write components of Time Series. 5
(b) Find Seasonal variations : 15

Year | Q) | Q) |Q3|Qy

1 |56 |48 |62 46
2 |60 546652
3 [70] 56 [68] 54
4 |68 60 |64 ] 56

3 (@) There are 3 white and 7 black balls. 3 balls are 7

taken at random. If Rs. 10 is given for the white ball
and Rs. 5 for each black ball, find expected value of the

amount.

(b) From the following prob. distribution find :

Q) k Gi) £ (xz) (iii) Variance 8

(iv) Var. of (1-5x) (v) E(x+3)2

x 0 |1] 2 [3] 4
p(x) [1/16 | k | 6/16 | k |1/16

OR
3 (@) There are 6 Red and 4 Green balls, 2 balls are 5
taken at random, find exp. value of no. of Red balls.
(b) 4 coins are tossed simultaneously find exp. value of 5
no. of heads.

(©0 Write properties of Mathematical Expectation. 5
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4 (a) Write properties and uses of Binomial Distribution. 5
(b) In Binomial Distribution, Mean and Variance are 5

6 and 2.4, find :
@ p, q () n () p(X=1)

© InB.D. n=6 and 9 p(X=4)=p(X=2), find 5

@ p, q @ p(X=1).

OR
4 (a) Write properties and uses of Poisson Distribution. 5
() In Poisson Distribution p(X =2)=3p(X =4), find 5

@ Mean and Variance

i p(X=0)

(1) p(XZl).

(©) Fit Poisson Distribution to the following data : 5

x| 011234
f 112359 |14

(e‘0~5 - 0.6065)
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